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Q1.Which of the statements about power-sharing arrangements in Belgium and Sri Lanka are
correct?

(a) In Belgium, the Dutch-speaking majority people tried to impose their domination on the
minority French-speaking people

(b) In Sri Lanka, the policies of the government sought to ensure the dominance of the Sinhala-
speaking majority

(c) The Tamils in Sri Lanka demanded a federal arrangement of power-sharing to protect their
culture, language and equality of opportunity in education and jobs

(d) The transformation of Belgium from a unitary government to a federal one prevented the
division of country on linguistic lines.
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In Belgium, power is shared horizontally and vertically between the Dutch-speaking Flemish and
French-speaking Wallonian communities. This includes representation in government. In Sri
Lanka, the Sinhalese majority dominated government, causing alienation among Tamils and
eventually a civil war

Q2. Which of the following ethnic groups in Belgium has the largest population?

a. Walloon



b. Flemish
c. Germany
d. D. None of the above
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Answer- b. Flemish/ &, TRITor=T

The ethnic group, Flemish, has the largest population in Belgium. Belgium is a small European
country. It has a community where people speak Dutch, French, and German. 59% of the
population live in the Flemish region and speak Dutch.

Q3. Assertion: Power sharing among different organs of government is known as horizontal
distribution of power

Reason: It allows different organs of government placed at the same level to exercise different
powers.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R
C.Aistrue R is False

D.Both A and R are False
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In the horizontal distribution of power systems, the power is shared among different organs of
the government such as the legislature, the executive, and the judiciary. All three organs of the
government, that is, the legislature, the executive and the judiciary are placed at the same
level.

Q4. Choose the correct option:

Column A Column B
i Brussels A. Dutch speaking people in majority
ii. India B. Dutch speaking people in minority
iii. Belgium C. Majotarianism
iv. Srilanka D. Secular state
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a. i-B, ii-D, iii-A, iv-C
b. i-D, ii-A, iii-B, iv-C
c. i-C, ii-A, iii-D, iv-B
d. i-D, ii-B, iii-A, iv-C

ANSWER- a. i-B, ii-D, iii-A, iv-C

The group of Dutch languages is dominant in the Flemish region of Belgium. Out of the 100%
population who only lives in the Flemish region, 59% of them speak only Dutch, and the rest of
the population of the Flemish region speaks both French and German.

Brussels, the capital of Belgium presented a special problem: the Dutch-speaking people
constituted a majority in the country, but a minority in the capital. In Brussels, 80% of the
population spoke French while 20% were Dutch-speaking.



The government followed preferential policies that favored Sinhala applicants for university
positions and government jobs. A new constitution stipulated that the state shall protect and
foster Buddhism.

India since its independence in 1947 has been a secular state. The secular values were
enshrined in the constitution of India. India's first prime minister Jawaharlal Nehru is credited
with the formation of the secular republic in the modern history of the country.

Q5.

Power sharing between different levels of Vertical division
Government

Power sharing between organs of the ?
Government

Majoritarian division
Dictatorship
Horizontal division
Diagonal division
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Horizontal power sharing is power shared among different organs of government such as —
legislature , executive and judiciary . Vertical power sharing is power shared among different

levels of government such as Union, State and local government.
Q. Read the extract given below and answer the questions that follow:

Besides seeking more income, one way or the other, people also seek things like equal
treatment, freedom, security, and respect of others. They resent discrimination. All of these are
important goals. In fact, in some cases, these may be more important than more income or
more consumption because material goods are not all that you need to live. Money, or material



things that one can buy with it, is one factor on which our life depends. But the quality of our
life also depends on non-material things. Consider an example: If you get a job in a far-off place,
before accepting it you would try to consider many factors, apart from income, such as facilities
for your family, working atmosphere, or opportunity to learn. In another case, a job may give
you less pay but may offer regular employment that enhances your sense of security. Another
job, however, may offer high pay but no job security and also leave no time for your family. This
will reduce your sense of security and freedom. Similarly, for development, people look at a mix
of goals. It is true that if women are engaged in paid work, their dignity in the household and
society increases. However, it is also the case that if there is respect for women there would be
more sharing of housework and a greater acceptance of women working outside. A safe and
secure environment may allow more women to take up a variety of jobs or run a business.
Hence, the developmental goals that people have are not only about better income but also
about other important things in life.

Answer the following questions from Q6-Q10 by choosing the most appropriate option based n
above passage:
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Q6.Gaurav currently residing in Surat applied for a job in an educational learning hub “XYZ”
located in Delhi. He got selected in an interview. The company offered him a handsome salary.
However, Gaurav is confused. Apart from salary, what other goals he should keep in mind while
taking up a new job?

A.Opportunity to learn
B.Working atmosphere
C.Job security

D.All of the above
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Besides seeking more income, one way or the other, people also seek things like equal
treatment, freedom, security, and respect of others. They resent discrimination. All of these are
important goals.

Q7.The approach of living a life in bungalows, with costly cars, bikes and international tours is
life.

A.Materialistic
B.Social

C.Boasted



D.Bothaandc
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Anyone who is obsessively focused on money, or cares deeply about owning luxury goods can
be described as materialistic. Material is a synonym for matter: anything that exists.

Q8.“Women, who are engaged in paid jobs are an example of persons who fulfil a mix of goals.”
Which of the following statement is incorrect with the given statement?

A.A secure environment may allow more women to take up a variety of jobs or run a business.
B.If there is respect for women, there would be greater acceptance of women working outside.
C.If women are engaged in paid work, their dignity in the household and society decreases.

D.All are correct

Q8. Higemd, Sl aa aTcil ARl # Tl g5 o, VY SAfkTdl BT Ueh IaTexvl & il i3 e
DRI B 8 1" FEfaRed § S $F 91 HyF U T Y 9 7ad 82

3. T GRI&T aTaR0 $1fe Afgarsil i fafid YR &I AIeRal o+ 91 Taurd ad Bt
AT ¢ Tl 3

§.3TR A3 BT T BT, O ST8R BTH B ardl Afgarsi & Wierdar st

g, afe ARt Tdafqe & § Tl et § df TR SR JHIS § 396! UfasT &4 8l Sl ¢ |

T ot wgt §

Answer- C.If women are engaged in paid work, their dignity in the household and society
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It is true that if women are engaged in paid work, their dignity in the household and society
increases. However, it is also the case that if there is respect for women there would be more
sharing of housework and a greater acceptance of women working outside. A safe and secure
environment may allow more women to take up a variety of jobs or run a business.




Q9.“Besides seeking more income, people also seek things like equal treatment, freedom,
security and respect of others”. What does the given statement signify?

A.Mixed goals are important for people for development.
B.Common goals are important for people for development.
C.Conflicting goals are important for people for development.

D.Similar goals are important for people for development.
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Answer-(a) Mixed goals are important for people for development
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Mix of goal means that development is mix up of all the goals like freedom, respect, harmony,

peace towards others and many more. People are dwelling in a democracy, so they need stuffs
like equal treatment, liberty right, security, and respect, etc. Money is the most important

factor in evolution.

Q10. The literacy rate is highest in Kerala while the infant mortality rate is highest in Bihar.
What does it show?

(a) Most of the people in Kerala and Bihar have good living conditions.
(b) Both Bihar and Kerala lack basic necessities of life.
(c) The standard of living in Kerala is better than Bihar.

(d) The standard of living in Bihar is better than Kerala.
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Answer: (c) The standard of living in Kerala is better than Bihar.

IR () P H ofiaq TR fIgR I SgR B

This state has large numbers of prosperous farmers who were some of the first to benefit from
the green revolution. Thus, its average income is more than that of Kerala, a state known for
human resource development.



